Name Date

THANKSGIVING CODEBREAKER 2C
MULTIPLICATION FACTS 15, 25, 55 AND 105

Use the clues to work out the answer to the Thanksgiving joke.

A/BICID/EIH/I |]K|LIM|INJO/P|R|S|T|U|W|Y
104 16|14/20/8|80|15/16|70| 2 |25|/90 |18 |60|30|40|35|45

Why do pilgrims’ pants keep falling down?

Letter B

Number 4

Fact 2x2 | 5x4 2x3 | 1x10 | 5x8 | 10x6 | 2x10 5x6 8x1 4x5 9x5
Letter

Number

e 5x7 | 8x5 | 10x1 | 2x9 5x6 | 2x4 | 10x2 | 8x10 | 2x9

Letter

Number

Fact 4x1 | 4x5 | 8x2 | 10x3 1x4 | 8x5 | 3x2 | 5x3 | 2x8 | 2x10
Letter

Number

Fact 5x5 | 1x2 6x5 | 8x1 | 10x2 | 10x8 | 9x2 1x8 | 2x5 | 5x6
Answer
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Name Date

THANKSGIVING CODEBREAKER 2C ANSWERS
MULTIPLICATION FACTS 15, 25, 55 AND 105

Use the clues to work out the answer to the Thanksgiving joke.

A/BICID/EIH/I |]K|LIM|INJO/P|R|S|T|U|W|Y
104 16|14/20/8|80|15/16|70| 2 |25|/90 |18 |60|30|40|35|45

Why do pilgrims’ pants keep falling down?

e IB|E|C|A|U/|S|E T|H|E|Y

W 4120| 6 | 10|40 60 | 20 30| 8 | 20|45
Fact 2x2 | 5x4 2x3 | 1x10 | 5x8 | 10x6 | 2x10 5x6 8x1 4x5 9x5
Letter W E A R T H E I R

wmer 135120 10 | 18 30| 8 | 20|80 |18

Fact 5x7 | 8x5 | 10x1 | 2x9 5x6 | 2x4 | 10x2 | 8x10 | 2x9

Letter B E L T B U C K L E
e 41201016 | 30 4 140 6 | 15|16 | 20

Fact 4x1 | 4x5 | 8x2 | 10x3 1x4 | 8x5 | 3x2 | 5x3 | 2x8 | 2x10
" 1O | N TIH|E| I |R H|A|T
w125 2 30| 8 |20 |80 18 8 | 10| 30
Fact 5x5 | 1x2 6x5 | 8x1 | 10x2 | 10x8 | 9x2 1x8 | 2x5 | 5x6

Answer BECAUSE THEY WEAR THEIR BELT BUCKLE

ON THEIR HAT.
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